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Step 1: Draw slope triangles on each of the graphs and fill in the 
slope = ____ space.
Step 2: Determine the y-intercept of each of the graphs (where the graph crosses the y-axis) and fill in the y-intercept =_______ space.

Step 3: Match the graph to the equation on the right side of the page by drawing a line connecting the pictures to the equations.
	1) slope = ______       y-intercept = _______
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	2) slope = ______       y-intercept = _______
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	3) slope = ______       y-intercept = _______
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	4) slope = ______       y-intercept = _______
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	5) slope = ______       y-intercept = _______
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	6) slope = ______       y-intercept = _______
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